
-7312 -7322

SLF Series Accessory Mounting - Overview

QStainless Steel and Aluminum Resin Accessories for SLF Series

Accessory Part Number Material Page Applicable Extrusion

Handle

UWANSS
UHFNSS

110

EN 1.4301 Equiv. P.825

All SLF Series

120
125
160
200
250

UPCN

19

B
W
M
R
G

36

Glass Fiber
Reinforced Nylon 6

P.1184

51

21
36
51

26
41
57

27
45
63

28
52
50
71

Hinges

SHHPSD
8

2

EN 1.4301 Equiv.

P.1197
SLF6 Series (40 Square)

3

845
2

SLF6 Series (40 Square), SLF8 Series (50 Square)
3

SHHPSL
SHHPSR
SHHPSLC
SHHPSRC

8
2

P.1207
SLF6 Series (40 Square)

3

845
2

SLF6 Series (40 Square), SLF8 Series (50 Square)
3

Magnetic Catch Set SMGCC
4040 1 (MGCC1: Black)

2 (MGCC2: Gray)
3 (MGCC3: White)

- P.731
Extrusion: SLF#6-4040, Door: SLF#6-4040

4050 Extrusion: SLF#8-5050, Door: SLF#6-4040
5050 Extrusion: SLF#8-5050, Door: SLF#8-5050

EAccessories for SLF Series listed in the table above are for reference; other types are also available.
EFor details of accessories, see each listed page.

QAbout Mounting Accessories for SLF Series
Accessories for SLF Series are for slot mounting.
Tapping alteration is required for mounting without using slots. (Details d P.735)

Handle Mounting Example Hinge Mounting Example Magnetic Catch Mounting Example

How to Mount Accessory Applicable Extrusion Applicable Accessory Page

Sl
ot

 T
yp

e

As same as existing HFS and EFS Series, insert nuts 
into slots and fix accessories with screws.

SLF6 Series
E��Applicable Nut: 6 Series 

(WP.617~)

SLFF6-4040, 4080 (Three-Side Slots)
Handle P.825~830

SLFT6-4040, 4080 (Two-Side Slots)
SLFH6-4040, 4080 (Slots on Opposite Sides)

Hinges P.805~814
SLFC6-4040, 4080 (One-Side Slot)

SLF8 Series
E��Applicable Nut: 8 Series 

(WP.667~)

SLFF8-5050, 50100 (Three-Side Slots)
Magnetic Catches P.815~820

SLFT8-5050, 50100 (Two-Side Slots)
SLFH8-5050, 50100 (Slots on Opposite Sides) Casters and Leveling 

Mounts P.811~846
SLFC8-5050, 50100 (One-Side Slot)

No
 S

lo
t T

yp
e

Machine taps on no-slot sides. Mount accessories on 
the extrusion directly with screws.
EFor tapping alterations, see P.735.
E��Specify tapping alterations after confirming the hole 

position and diameter of the mounting accessory.

SLF6 Series
SLF6-4040, 4080 (No Slot Type)
E��This is also applicable when mounting on a no-

slot side of the Slot Type.

Handle P.825~830

Hinges P.805~814

SLF8 Series
SLF8-5050, 50100 (No Slot Type)
E��This is also applicable when mounting on a no-

slot side of the Slot Type.

Magnetic Catches P.815~820

Casters and Leveling 
Mounts P.811~846

UPCN

Tapping

Tapping

UPCN

Insert nuts into a slot.

(wP.735)

(wP.735)

Tapping

Tapping

SHHPSD8

SHHPSD8

Insert nuts into a slot.

(wP.735)

(wP.735)

Tapping

Insert nuts into a slot.

(wP.735)

Tapping
(wP.735)

SLF Series - Plates for Footings, Foot Bases, Magnetic Catches

Part Number
A B T M1 M2 D L1 L2 L3 L4 L5 L6 L7 L8 L9

Mass 
kg

Unit Price Volume Discount Rate
Type No. 1 ~ 8 pc(s). 9~50

SAJPSS
6 155 155

8 16

- 7

15

15 20 40 62 - - - - 1.03
8 175 175 - 9 20 25 50 72 - - - - 1.23

SAJPCS
6 195 155

6
7 15 40 40 62 138 98

50 7
2.1

8 225 175 9 20 50 50 72 168 118 2.5

Part Number Applicable 
Extrusion

Applicable Parts

Leveling Mount
Caster Mounting Extrusion Slot Mounting * No-Slot Extrusion Mounting

Type No. Main Body Screw Quantity Screw Quantity Nut Quantity Screw Quantity

SAJPSS
6 40 Square

FJFNS16-150
- - -

SCB6-15
4

HNTTSN6-6
4

SCB6-18
4

8 50 Square SCB8-20 HNTTSN8-8 SCB8-18

SAJPCS
6 40 Square

CHJFS50A SCB6-12 4
SCB6-15

5
HNTTSN6-6

5
SCB6-18

5
8 50 Square SCB8-20 HNTTSN8-8 SCB8-18

E��Applicable parts are not assembled with the plate. 
* Tapping alteration is required for mounting on no-slot extrusions. (Details D P.735).

ENuts and screws listed in the table are examples; other types are also available.
EExtrusion will protrude 5mm from the plate when mounted.

Part Number M A B W T Counterbore 
MA

Applicable 
Extrusion

Applicable Screw Unit Price Volume Discount Rate
Screw Quantity 1 ~ 8 pc(s). 9~50

SLFS4080
16

40 80 40
16

6 SLF6-4080 SCB6-35 2
SLFS50100 50 100 50 8 SLF8-50100 SCB8-35 2

Part Number

SAJPSS6

QPlates for Footings

Part Number - M

SLFS4080 - 16

MMaterial: EN 1.4301 Equiv.

QFoot Base

QMagnetic Catch Set

MMaterial: EN 1.4301 Equiv.

1 2

e��Use Cylindrical Nuts 
(P.730) to mount Foot 
Bases for SLF Series. 
For nut hole machining, 
see Nut Hole Machining 
in Fixed Position (P.733).For Cylindrical Nuts, see P.730.

Part Number - Magnet

SMGCC4040 - 1

Part MMaterial

Magnetic Catches
Housing Polyacetal
Magnet Neodymium Iron Boron Magnet

Mounting Plate
Plate EN 1.4301 Equiv.

Plate Mounting Screw EN 1.4301 Equiv.
Magnet Mounting Screw EN 1.4301 Equiv.

Receiving Plate
Plate EN 1.4016 Equiv.

Receiving Plate Mounting Screw EN 1.4301 Equiv.
Acorn Nut EN 1.4301 Equiv.

Mounting of Leveling Mount + Plate with Caster
(Mounting by using nuts into slots)

Mounting of Leveling Mount
(Mounting by using nuts into slots)

Part Number
Magnet

Applicable Extrusion Retaining 
Force N 

(kgf)

Components (Accessory)
Unit Price Volume 

Discount RateExtrusion Door

Type No. Extrusion Door
Mounting Plate Plate Mounting Screw Magnet Mounting Screw Receiving Plate 1 ~ 4 

pc(s). 5~20
Plate Size Quantity Mounting Screw Quantity Plate Mounting Screw Acorn Nut

SMGCC
4040 1 (MGCC1: Black)

2 (MGCC2: Gray)
3 (MGCC3: White)

SLF#6-4040 SLF#6-4040 MGCC1(1.0)
MGCC2(1.4)
MGCC3(2.0)

Plate 1 M4x10
2 M4x4 2 Receiving 

Plate M3x10 24050 SLF#8-5050 SLF#6-4040 Plate 2 M4x15
5050 SLF#8-5050 SLF#8-5050 Plate 1 M4x15

EUse SHNTE8-3 (P.670) to mount a receiving plate on 50 sq. slotted extrusions.    EUse Acorn Nuts for panel doors.

Plate Thickness: 1.5mm
*�For MGCC (single item), see P.1214.

2-Ø4

7
12
15

293645

4

2.5 1.5
5

9
11.2

36

45 18

4.5

10
8

19

35

9

2

7

4.5

307.5 7.5

4.5

2-R2

2-M4 Through

36
17

45

45
°

4.5

9
8

26

23

427.
5

11
.5

9
7

4.5

307.5 7.5 9.5

4.5

(9)

2

2-R2

2-M4 Through

4051

16

2-M3 Countersink

Magnet Receiving PlateMounting Plate
Plate 1 Plate 2

SMGCC

1SAJPSS6, 8

L1
B

L4
L5

L3
L2

L2

L1L4

A
TL5

L3

M1

4-D

2SAJPCS6, 8

L1 L9
L8

L7L2

L3
L5

L1L3L4L5

B

L2

L6 L8 L9

T
A

M1

5-D

4-M2

ESide surfaces polished.

SLFS4080
SLFS50100

M

A T

W B

2-MA Counterbore

EAll surface polished.




